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Metabolic alkalosis Respiratory alkalosis
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below 40 mm Hg: “chronic” respiratory alkalosis
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below 40 mm Hg: additional metabolic acidosis
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Chloride-responsive Chloride-resistant A-a difference <10 mm Hg A-a difference >10 mm Hg
responsive to NaCl, KCl, or both Urinary CI- >40 mmol/liter (=20 mm Hg in elderly) (>20 mm Hg in elderly)
(urinary Cl"‘|°ride‘t65ti”g not If not due to continuing Hyperventilation without Hyperventilation with intrinsic
necessary in °be°“5 gastric diuretic use or magnesium intrinsic lung disease lung disease, ventilation—
ﬂu".j loss orIW|thAuse ?f deficiency, analyze other (e.g., fever, pregnancy) perfusion mismatch, or
chloride-wasting diuretics) options both (e.g., pneumonia,
Urinary CI- <25 mmol/liter pulmonary embolism)
(e.g., vomiting)

Urinary K* <20 mmol/day

1 +
(e.g., laxative abuse) Urinary K*>30 mmol/day

Low or normal blood pressure High blood pressure
The Gitelman syndrome Real or apparent mineralo-
(low urinary calcium) corticoid excess, often with
The Bartter syndrome hypokalemia
(high urinary calcium)

Figure 2. Assessment of Alkalosis.

Reference values for the alveolar—arterial (A—a) oxygen tension difference are less than 10 mm Hg in young persons and less than 20 mm Hg
in the elderly. Paco, denotes partial pressure of arterial carbon dioxide (mm Hg), and Pao, partial pressure of arterial oxygen (mm Hg). To
convert the values for Paco,, Pao,, and the alveolar-arterial difference to kilopascals, multiply by 0.1333.
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